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SELECTED SOLUTIONS 

 

1. Using the “elimination method,” we have  

 

𝑥 + 𝑦 = 2 

5𝑥 − 𝑦 = 22 

6𝑥     = 24 
Hence, 

6𝑥

6
=

24

6
 . 

So,  

𝑥 = 4. 
Thus, 

4 + 𝑦 = 2    ⟹     𝑦 = 2 − 4 = −2. 
 

 Alternative solution: 

 

Using the “substitution method,” we could begin as follows: 

 

𝑦 = 2 − 𝑥. 
Hence, 

5𝑥 − (2 − 𝑥) = 22, 
by substitution.  So,  

5𝑥 − 2 + 𝑥 = 22    ⟹     6𝑥 = 24    ⟹     𝑥 = 4. 
Thus, 

𝑦 = 2 − 4 = −2. 
 

  



11. Using the “elimination method,” we have  

 

(−3)(3𝑥 − 4𝑦) = −11(−3) 
(4)(4𝑥 − 3𝑦) = 4(4) 

Hence, 

−9𝑥 + 12𝑦 = 33 

  16𝑥 − 12𝑦 = 16 

     7𝑥            = 49 

So, 
7𝑥

7
=

49

7
 . 

Thus,  

𝑥 = 7. 
Hence, 

3(7) − 4𝑦 = −11    ⟹     21 − 4𝑦 = −11    ⟹     −4𝑦 = −32. 
So, 

𝑦 = 8. 
Therefore,  

𝑥 − 𝑦 = 7 − 8 = −1, 
which is option C. 

 

 

 

13. First note that the problem states 𝑏 = 𝑐 −
1

2
 .  Hence, by substitution into the first 

equation, 

2𝑥 + (𝑐 −
1

2
) = 4𝑥 − 6. 

So, 

𝑐 = 2𝑥 − 6 +
1

2
= 2𝑥 −

12

2
+

1

2
= 2𝑥 −

11

2
 . 

Thus, by substitution into the second equation, 

2𝑦 + (2𝑥 −
11

2
) = 4𝑦 − 6. 

Hence,  

2𝑥 = 2𝑦 − 6 +
11

2
= 2𝑦 −

12

2
+

11

2
= 2𝑦 −

1

2
 . 

So, 

𝑥 = 𝑦 −
1

4
 , 

which is option D. 
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